



(An Autonomous Institution)
Coimbatore – 35

Jind the Jourier hans join of the Junchion Jan [1-12], 12|x| and deduce that
$$\int \frac{x_{int}}{t} e^{-t} dt = \int \frac{x_{int}}{t} e^{-t} dt$$
.

$$f(s) = \frac{1}{\sqrt{2\pi}} \int (1-12\pi) e^{-t} ds = \int \frac{x_{int}}{\sqrt{2\pi}} e^{-t} e^{-t} ds = \int \frac{x_{int}}{\sqrt{2\pi}} e^{-t} e^{$$





(An Autonomous Institution)
Coimbatore – 35

Proversion forming transform:

$$\frac{1}{\sqrt{2\pi}} \int_{-2\pi}^{2\pi} \int_{-2\pi}^{2\pi} \frac{\sqrt{2} \sin^2 s}{s^2} e^{-isx} ds$$

$$1-x = \frac{\pi}{\pi} \int_{-2\pi}^{2\pi} \frac{\sin^2 s}{s^2} \int_{-2\pi}^{2\pi} \cos sx - l \sin sx \int ds$$

$$1-x = \frac{\pi}{\pi} \int_{-2\pi}^{2\pi} \frac{\sin^2 s}{s^2} \cos sx ds \int_{-2\pi}^{2\pi} \int_{-2\pi}^{2\pi} \frac{\sin^2 s}{s^2} \cos sx ds$$

$$1-x = \frac{\pi}{\pi} \int_{-2\pi}^{2\pi} \frac{\sin^2 s}{s^2} \cos sx ds$$

$$1-x = \frac{\pi}{\pi} \int_{-2\pi}^{2\pi} \frac{\sin^2 s}{s^2} ds$$

$$1-x = \frac{\pi}{\pi} \int_{-2\pi}^{2\pi} \frac$$





(An Autonomous Institution)
Coimbatore – 35

passevalis 2 dentity:
$$\int_{-\infty}^{\infty} (J(x))^2 dx = \int_{-\infty}^{\infty} (F(s))^2 ds$$

$$\int_{-\infty}^{\infty} (J(x))^2 dx = \int_{-\infty}^{\infty} \left[\sqrt{\frac{2}{\pi}} \left[\frac{2 \times n^2 \cdot s/2}{s^2}\right]^2 ds$$

$$\frac{2(1-x)^3}{-3} \int_{-\infty}^{\infty} = \frac{2 \times 4}{\pi} \int_{-\infty}^{\infty} \frac{(sn^2 \cdot s/2)^2}{s^2} ds$$

$$= \frac{8 \times 2}{\pi} \int_{0}^{\infty} \frac{(sn^2 \cdot s/2)^2}{s^2} ds$$

$$Take \frac{s/2}{3} = \frac{16}{\pi} \int_{0}^{\infty} \frac{(sn^2 \cdot t)^2}{(2t)^2} dt$$

$$= \frac{16}{\pi} \int_{0}^{\infty} \frac{(sn^2 \cdot t)^2}{4t^2} dt$$





(An Autonomous Institution)
Coimbatore – 35

parsevally 2 dentity:
$$\int_{-\infty}^{\infty} (\sqrt{|x|})^2 dx = \int_{-\infty}^{\infty} (F(s))^2 ds$$

$$\int_{-\infty}^{\infty} (1-x)^2 dx = \int_{-\infty}^{\infty} (\sqrt{\frac{2}{\pi}} \int_{-\infty}^{\infty} \frac{s^2 s^2}{s^2})^2 ds$$

$$\frac{2(1-x)^3}{-3} \int_{-\infty}^{1} = \frac{2x^4}{11} \int_{-\infty}^{\infty} \frac{(s^2 n^2 s^2)^2}{s^2} ds$$

$$\frac{8}{3} = \frac{8 \times 2}{11} \int_{-\infty}^{\infty} \frac{(s^2 n^2 s^2)^2}{s^2} ds$$

$$Take \frac{s}{2} = t \cdot \Rightarrow s = 2t$$

$$ds = 2dt$$

$$\frac{8}{3} = \frac{16}{11} \int_{-\infty}^{\infty} \frac{(s^2 n^2 t)^2}{(2t)^2} dt$$

$$= \frac{16}{11} \int_{-\infty}^{\infty} \frac{(s^2 n^2 t)^2}{(2t)^2} dt$$